TIGPS, Ariadaha

Notice for fee payment in July 2024.

Please pay your ward's school fee as follows.

Grade BV-1 to XII

- A. For all students :- BV 1 to X
- Who are paying fee through our LMS portal, kindly pay fee by 10th July 2024. After 10th of the month fine will be charged.
 Kindly pay your due fee (if any, if paid please ignore) for previous session and up to June 2024 immediately.
- 2. Who are paying fee through Axis NACH system or through their PNB account **kindly keep** funded your account by 9th July 2024. Transaction will take place on 10th of the month.

Kindly pay your due fee (if any, if paid please ignore) for previous session and and up to June 2024 immediately through our LMS portal.

- B. For Class XI & XII : For fee payment kindly follow the schedule mentioned below.
- Who are paying fee through our LMS portal, kindly pay fee by 10th July 2024. After 10th of the month fine will be charged.
 Kindly pay your due fee (if any, if paid please ignore) up to June 2024 immediately.
- 2. Who are paying fee through Axis NACH system or through their PNB account **kindly keep** funded your account by 9th July 2024. Transaction will take place on 10th of the month.

Kindly pay your due fee (if any, if paid please ignore) immediately through our LMS portal.

<u>For XII</u>

For Science On A/c of	Fee Amount	Total Amount	Fee payment date by
Annual Fee for Class XII	18500	21470	10th April 2024
Tuition fee for one month (April)	2970	21470	10th April 2024
Tuition fee for one month (May)	2970	2970	10th May 2024
Tuition fee for two months (June & July)	2970 x 2	5940	10th June 2024
Tuition fee for two months (August & September)	2970 x 2	5940	10th July 2024
Tuition fee for two months (October & November)	2970 x 2	5940	10th August 2024
Tuition fee for one month (December)	2970	2970	10th September 2024
Tuition fee for one month (January)	2970	2970	10th October 2024
Tuition fee for one month (February)	2970	2970	10th November 2024
Tuition fee for one month (March)	2970	2970	10th December 2024
Total Payable for Class XII :		54140	

For Commerce On A/c of	Fee Amount	Total Amount	Fee payment date by
Annual Fee for Class XII	18500	21105	10th April 2024
Tuition fee for one month (April)	2695	21195	10th April 2024
Tuition fee for one month (May)	2695	2695	10th May 2024
Tuition fee for two months (June & July)	2695 x 2	5390	10th June 2024
Tuition fee for two months (August & September)	2695 x 2	5390	10th July 2024
Tuition fee for two months (October & November)	2695 x 2	5390	10th August 2024
Tuition fee for one month (December)	2695	2695	10th September 2024
Tuition fee for one month (January)	2695	2695	10th October 2024
Tuition fee for one month (February)	2695	2695	10th November 2024
Tuition fee for one month (March)	2695	2695	10th December 2024
Total Payable for Class XII :		50840	

For XI

- 1. **For newly admitted students and our existing students** (who were paying fee through our LMS portal), kindly pay fee by 10th July 2024. After 10th of the month fine will be charged.
- For the existing students, who were paying fee through Axis NACH system or through their PNB account kindly keep funded your account by 9th July 2024. Transaction will take place on 10th of the month.

For Science On A/c of	Fee Amount	Total Amount	Fee payment date by
Admission fee for Class XI Annual Fee for XI			During Admission
Tuition fee for one month			
Tuition fee for two months	2970 x 2	5940	10th June 2024
Tuition fee for two months	2970 x 2	5940	10th July 2024
Tuition fee for two months	2970 x 2	5940	10th August 2024
Tuition fee for one month	2970	2970	10th September 2024
Tuition fee for one month	2970	2970	10th October 2024
Tuition fee for one month	2970	2970	10th November 2024
Tuition fee for two months	2970 x 2	5940	10th December 2024

Kindly pay your due fee (if any, if paid please ignore) immediately through our LMS portal.

For Commerce On A/c of	Fee Amount	Total Amount	Fee payment date by
Admission fee for Class XI Annual Fee for XI	18500	21195	10th April 2024
Tuition fee for one month	2695		
Tuition fee for two months	2695 x 2	5390	10th June 2024
Tuition fee for two months	2695 x 2	5390	10th July 2024
Tuition fee for two months	2695 x 2	5390	10th August 2024
Tuition fee for one month	2695	2695	10th September 2024
Tuition fee for one month	2695	2695	10th October 2024
Tuition fee for one month	2695	2695	10th November 2024
Tuition fee for two months	2695 x 2	5390	10th December 2024

Parents are requested to follow the fee payment schedule as mentioned in the fee book (yellow page) and submit the fee accordingly.

			TIC	PS	- AR	IAD	AHA		_			_
			FE	E PAY	MENT S	CHED	ULE					
Dear Parents, Sch als according to th	ool fees HI follow	are collect	ed through In by 10th o	LMSAE	CS. Our E	lank will use pay	run ECS fee thros	en 10th (of every portal by	month. P 10th eve	Inase or iny mont	edityo h.
		NEW Admission	EXISTING STUDENTS									
		During Naw Addression	Begining of New Session In April	May	June	July	August	September	October	Revelder	Searche	-
One time Pay	_	1	- COLORED		1			-	-			1
Admission Fee Balvatika I to X XI to XII		30000										
Annual Fee : Reivetike I to X KI to XII	13500	Annual Fee	Annual Fee									
Monthly :									-		-	1
fution Fee Shatika I to Balvatika III to X	2283 2464	Tution Fee	Tution Fee	Tution Fee (for May)	Tuttion Fea (for June)	Tation Fee (for July)	Tution Fee (for Aug)	Tution Fee (ter Sept)	Tution Fee (for Oct)	Tation Fee (tor Hex)	Tution Fee (tribe site)	Tution Fee (schieville)
C to XII (Sc) C to XII 8Com)	2970				Pay	ment s	chedu	le will b	e notif	led late	r.	

	FEE	TIGPS, AI STRUCTU					
Particulars	VOR PREVALISARIA Balantika I Referetika I Balentika S	STAR TLASS I TO	from SLADO BI TOLS (Metalinet Bot object 20)	Prist 22,412 (5)	-		ere canto a
Admission Fee(One Time)	30000	30000	30000	40000	40000		
Annual Fee (Yearly)	13500	13500	13500	18500	18500	18500	18500
Tuition Fees(Monthly)	2283	2464	2464	2970	2695	2976	3655
For Existing Students- Amount to be paid at the time of beginning of the next sussion	15783	15964	15964		Est	21478	21155
For Enlating studeen - Amount to be put to one year	40890	43068	43068			54140	50840